L 51303

560
| Semester M.B.A. Degres Examination, Feb, 2018
(CBCS)
MANAGEMENT
Paper - 1.3 : Accounting for Managers

Tima - 3 Hours Max Marks : 70

SECTION - A
Anawer any five : (5x5=25)

1. Oafle tha térm Dapraciation and stats the factors which provides for
Depreciation,

2 Explain tha importance of Human Resource Arcounting.

4. Joumnailse the fallgwing brarisactions of Ram and Sons far thie year 2016
June 1 -Business stared with T 1,00,000 and cash deposited in bank T 60,000
Jure 2 Mathinery purchased fram Karar! for cash of 220,000
June' 3 Fumiture purchased from Mr. A on credit of €10,000
June & Goods sofd to Rohit a1l T 9,000
June 9 Goods returned by Rohit of ¥ 2,500
Jurie 13 Soid goods for cash of T 15,000
Jung 14 Bought goods for cash ol T12.000
Jutia 16 Gash recetved from Rohit of T 4,000
Jime 20 Cash paid o Karim o 7.000.

Juhaz4 Gaish withdrawn from bank of 118,000
June 27 Paid for advertisament al T 4,200
Jure 28 Faid rent ol ¥ 1,200

Juna 30 Office stationery purchased for T 2,000

June 30 Cash withdraiwn trom bank for his persanal use 3,000, e
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4. The Fairdeal Granary was nol maintaining a' perpetudl Inventory gymten for
i1 stocks untll recenlly. Only physicas Inveniory was taken ai the and of @ach
month. The physical Inventary at the end of Decembar, 2014, showid 200 bags
of fife rice at ¥ 212.25 per bag
Following purchases weare mads n Janiigny, 2015 -

37 400 bags at T 216.00 per bay
10 800 bags a1 T 223.50 per bag
16" 400 bags at ¥ 220.00 per bag
Following lssues ara made

28" 700 bags

40" 300 bags

You are mquired to.caloulate the value o sitck an a1% January, 2015 accorting o
&} First-in-Firstout
b} Last-in-First-aul

8. On 1% April 2000, a fitm purchased machinary for 7 2,00,000; On 14 Délohar,
2000, Additional machinery costing 2 1,00,000 was purshased. On 19 Octokar,
2001, the muchingry purchased on 1= Aarll, 2000 having become obsolsts, was
sold off af T 90,000. On 1+ Cotober, 2002, new machinary was purchised lor
¥ 2,50,000 while the machinery purchised on 1% Detaber, 2000 was zald lor

/84,000 o the same day.

The firm pravides depreciation on its machinery ® 10% p.a on the ariginal
caat. 1 closes e books of accounts on 317 March each year. Show machinery
account for the period ol thea accounting years ending 31% March, 2002

8 From the intormation given bslow prapars lexible bugget a1 60 and B0 per cant
capatifies and fix the tofal overhead ratea as a per cant on direct wages at

AL 60% AL T5% At 80%
; Capacity Capacity Capneity
T 4 T
Variablp overtieads -
Indirect matesdals 7,500

Incfirec! labour . 29500
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Sami-vaziables overheads |

Eleslrcily [#0%% finsd, B9 vanabing 37,500
9% fzed, 20% varabli) A Fall
Flxied avarhaads

Shlarien 1.00,000
InsurEnne 5.000
Depraciation 25,000

‘Estmatzd dirsct woges, T 40850 &2 TH capachy.
7. Menban the branches af Actaunting and discuss briully e scopa and

Impuranca of sarh

SECTION-B
Anawat anvy three of the followlng quesiions, esch qyssiion carried ten Mok
o {3u16=30)

R, Expéain thi trands of accountng wilh the soncapts

I} IFRS:and

&) Forenslo atcoumiing

9. From itsa Iolicwitg Information of @ commny, prapane fhn Balance Sheet i s
anles am T 28,00,000

Ealgs 10 nat warin Z1 limes.
Currand disbl i figt wisrin 40
Total debd ' ned worh 72%
Current rang 27 liram
Nist sl of inveintary 42 fiman
Averig etllaction pariod 80 dovs

Fmed missts to net worh 502%
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Bulancs Sheet

Mist vt Finest Aesits

| sarigg-prerrn chapt Cash

Gl dabl Sinok

Suifidry gElcm

Totsl Total

10 s, dyomi al Srar Cilks Limled hii célieatisd the tollawing informe=pon tar the

propartion of cash Haw sdntgment [or ha v amiing 31329157

Mgt ol

el (rcttiing divederin i) puld
Prolskon far Inoomesia 1o |
incoma T pald duing fhe year
Lcas on Gade of Assnis (et}

Book Vi of it Assst suld

'Buﬁnﬁaalhh':rmgm_m_ﬁpg!wmdmmrﬂ

amprisaiion of Capital Grant

Protit oh Bals ol Invasimants

Camying Aot lvestmaits 2ol

mseerst thenms on invssumants resivad duing the veas
Imerest Exi0s

Intersst paid during e yoar

incrmaise i Workihg Copitat (cicioin Gash wia Bank tsiase}

{11 tnkps)
25000
85015
S0
&
185
20,000
g
1he
27,188
2500
10,000
Vo580
58078
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| Semester M.B.A. Degree Examination, February 2017
(CBCS)
MANAGEMENT
Paper — 1.3 : Accounting for Managers

Time : 3 Hours Max. Marks : 70

SECTION - A

Answer any five of the following questions. Each question carries five marks. (5x5=25)

1.

2.

What is GAAP ? Explain the need for GAAP.
Explain the factors influencing depreciation.

Explain various sources of information for decision making to the stake holders
of the Company.

Explain how product price is fixed under :
i) Traditional costing

ii) Target costing.

Sales Profit

Rs. Rs.
Year — 1 10,00,000 2,00,000
Year — 2 15,00,000 4,00,000

Your are required to calculate :
i) P.V. Ratio
ii) Fixed cost

iii) Break even sales volume

)
iv)

iv) Sales to earn a profit of Rs. 3,00,000.

P.T.O.
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6. From the following data prepare flexible budget for production of 40000 units
and 60000 units of product ‘X’ distinctly showing variable cost and fixed cost as
well as total cost.

100000 units
(per unit cost)

Direct Material 90
Direct Labour 45
Direct variable expenses 10
Manufacturing variable overhead 30
Fixed production overhead 10
Administration overhead (fixed) 5

7. Present the following information to show clearly to management :
a) The marginal product cost and the contribution per unit.
b) The total contribution and-profits resulting from each of the following

mixtures.
Product

A B
Direct Material 10 9
Direct wages 3 2
Variable expenses 100% of

direct wages for both products
Selling price 20 15
Fixed expenses 800
Sales mixtures :
a) 100 units of product A and 200 of B
b) 150 units of product A and 150 of B
¢) 200 units of product A, and 100 of B.
SECTION - B

Answer any three of the following questions. Each question carries 10 marks. (3x10=30)

8. What is window dressing of financial statemenis ? Explain the motives and
forms of window dressing.



QI 4

9.

PG - 914

“Costs may be classified in a variety of ways according to their nature and the
information needs of management”. Explain and discuss this statement giving
examples of classification required for different purposes.

10. Acompany having a net working capital of Rs. 2,80,000 as 31-3-2015 indicates
the following financial ratios and performance figures :

11,

Current ratio 2.4
Liquidity ratio 1.6
Inventory turnover (on cost of sales) 8
Gross profit on sales 20%
Credit allowed (months) 5

The company’s fixed assests is equivalent to 90% of its net worth (share capital
plus reserves) while reserves amounted 40% of share capital. Prepare the
imaginary Balance Sheet of a company-as on 31-3-2015 showing step by step

calculation.

From the following information prepare Cash Flow Statement according to

A.S — 3 (Indirect Method) :

Comparative Balance Sheet Excellent Lid.

Liabilities and As at As at
Capital 31-3-2006  31-3-2005
Rs. Rs.
Share capital 50,00,000 40,00,000
Reserves and
Surplus 15,00,000  5,00,000

Secured Loans 35,00,000 40,00,000
Current Liabilities  50,00,000 60,00,000

1,50,00,000 1,45,00,000

Assets As at
31-3-2006
Rs.
Fixed

Assets 31,00,000
Investments 1,50,000
Cash and Bank
Balances  2,50,000
Stocks, Stores,

Work-in-
Progress 75,00,000
Sundry
Debtors 40,00,000
1,50,00,000

As at
31-3-2005
Rs.

30,00,000

1,25,000

78,75,000

35,00,000
1,45,00,000

i) The net profit for the year after adjustment in respect of provisions for
dividends and taxation was Rs. 10,00,000.

i) There was addition to Fixed Assets during the year amounting to Rs. 4,00,000
and Depreciation for the year was Rs. 3,00,000.
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SECTION - C

12. Case study : Compulsory. (1x15=15)

Prepare a Balance Sheet in a vertical form as at 31-3-2016 from the following
information of XYZ Ltd. as required under Part | — B of Schedule Il of the
Companies Act, 2013,

Term loans 10,00,000 Sundry debtors 12,25,000
Sundry creditors 11,45,000 Miscellaneous expenses 58,000
Advances 3,72,000 Loans from debtors 2,00,000
Cash and bank balances 2,75,000 Provision for doubtful debts 20,200
Staff advances 55,000 Stores 4,00,000
Provision for taxation 1,70,000 Fixed assets (WDV) 51,50,000
Share premium 4,75,000 Finished goods 7,50,000
Loose tools 50,000 General reserve 20,50,000
Investments 2,25,200 Capital work-in-progress  2,00,000
Loss for the year 3,00,000

Additional Information :

1) Share capital consists of :
a) 3,000 equity shares of Rs. 100 each fully paid up.
b) 10,000 — 10% redeemable preference shares of Rs. 100 each fully
paid up.
2) Term loans are secured.
3) Depreciation on assets Rs. 5,00,000.
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| Semester M.B.A. Degraa Examination, February 2016
(CBCS) (2014-15 & Onwards)
MANAGEMENT
Paper - 1.3 : Accountlng for Managers

Time 3 Hours Max. Marks : 70

SECTION-—A

Answerany five of the follswing tuestions, Each question carries s marks.  (5x5=25)

T

2

What are the diftsrences betwaen Financial Accounting and Management
Accounting ?

How is deprepiation for partial perlods recorded 7

2. What procadure would you adopt to study the liquidily of firm ?

Caleulata stock wurnaver ratio from the following data :
Btock at the baginning of the year | Bz, 10,000/-
Stock at e end of the viear : Rg. 5.000/-

Purchases : Rs. 28,000/-

Cariage inwards : Rg. 2 500/~

Total Sale : Rs. 50 000-

Cagh Seles | Ra. 5,000/-

Define standard costs and briefly indicate how thay may be used by management
in planning and cantral, '

1) Frepara commaon-size incoma statement for 2016 and 2015.
2) What caused Karf's profitability to decline ao dramatically in 2016 7

3) Analysia :in 2018 Karl's operating income was less than its interest expense.
Does this mean that Karl was unable to make Its interest payments in 2016 7
Explain.

How are the following items treated in determining net cash flow from operating
aetivities

a) interesipaid
b) interest receivad
&) dividend paid
P.T.O.
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di dividend recelved

&) gainon sales of Invastmeants

f) loss on exchange of plan; and

g} gain on redemplich of debeniure 7

7. "Expenses ara usad-up assets’. Explain,

SECTION-B

Answerany three questions. Each guestion carriesten marks. (3x10=30)

8. Form the following particulars; catoulate;
1) Break-even pointin terms of sales valus and in untts,
[y Mumber of units thet most sold to eam a profit of Rs, 1,00,0007.

Fised factony overhead cost 120,000
Fixed selling overhead cost 2400
Variatde manufacturing cost per unit 24
Variable salling cost per unlt B
Selling price per unit 48

9. What are the differances between current liabllities and tong term tabilties 7

18, InDepartment A’ the foliowdng data is submitted for the week ending 315 October :

Standard output for 40 hours par wesk 1,400 Linits
Standard fixed overhead Rs. 1,400
Actual outplnt 1,200 units
Actiml hours worked Bs. 32 hrs.
Aghual fixed gvarhead Hs. 1.500

Prepare a Statermiant of Vatlance

11. Preparation of Adiusting enfries and Financial Statements. Indian Business Servige
Ltd, was sat Up on January 1, 2008, itz Trial Batance on January 31, 2009 was

as follows -
Account Dehil Credit
Bulldirngs 15,000

Dffice squipment 12,000 a
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Diflce supplies 2140
Dexiors 1,640
Cash 630
Fregaid Rent J.600
Creditorg 1,020
Unearhed Revenue 1,600
Share capiial 20,000
Dividends 1,000
Revenue from services 16570
Salaries expensss 3100
Eleciricity expenses 380
Total 39,450 36,440

The tollewing addtional infermation is available:

a} The bullding ts expeated to be useful for 10 years and the office eguipment
has an estimated useful |Ife of four years. Mons of these assets are sxpected
to have any sahvage valus.

b} The inventory of office supplies on January 31 Is Rs. 970,

¢} ServicesTor As. 900 were provided to customers in January although no bills
havs been rajsed.

d) Services tor Bs. 720 ware provided 1o customers who had made full advancs
payments,
e} Salanes of stafl {or the second fortnight tolaling Rs. 3,100 have not baen
paid.
f} Thetelephona company sent a bill tor Rs. 480 fot January after the close of
the month's transaction.

g} This company pald six month's rent a3 advance on January 1.

Raquired :
1) Preparaadiusting eniries and post them 1o the T sccounts,

2) Prepare an ad|usted Trial Balance, a Proflt and Loss Account, a staternent of
relained eamings, and a Balance Sheet.
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SECTION =G
Thig i & Compulsery Section: {1x15=15)

12 Dstermining Nat Cash Flow from Operating Activitles-Indirect Method - Dutt
Company's Prefit and Loss Acoount for the year ended Juns 30. 2015 is ez follow -

Dutt Company : Profit and Loss Aceount (in INF)
For the Year Ended June 30, 2015

Sales 75,800
Gain on sales of investmants 1,200
Interestincomea 00
Dividend from subs|diarfes 300
Cost of goods sold 43,900
Depreciation Expanse 6,700
Selling and Administration expense B.500
Interest Expense 1,168
Logs on sales of plant and machinery 800
Profit before income tax 17,200
[ncame tax o 8300
Profit after Tax 8,800

Relevant Balance Sheet accounts oh Jure 30, 2015 and 2014 are &s follows -

June 30, 2015 June 30, 204
Inventories 8,300 7,900
Debtors (net of provision for
Doubiful Debts of Re.1 800 and Rs. B 600 8,300
Prepait Expenges 1,100 800
Craditors 2400 6,300
Bill Payable 2,100 6,500
Income Tax Payable 2,100 2,800

Selling and Adriinistrative. Expenses included bad dett expensa of Rz, 1.500.
During the year ended June 30, 2015, Debtors otaling Fs, 700 were written off,

Requlred : Compute Net Cash Flow from operating activities using the Indirect
methad,
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I Semester M.B.A. Degree Examination, Jan./Feb. 2015
(CBCS) (2014-15 & Onwards)
MANAGEMENT
Paper — 1.3 : Accounting for Managers

Time : 3 Hours Max. Marks : 70

SECTION-A

Answer any five of the following questions. Each question carries5 marks.

Answer to each theoretical question should not exceed 250 words. (5x5=25)
1. Explain the assumptions underlying accounting measurement.

2. Write a note on Quality of Earings.

3. Distinguish between cost con:rrol and cost reduction.

4. Explain the practical applications of Marginal Costing.

5. On September 1, 2012, Rashmi Sinha established Lovely Beauty Salon. The
business engaged in the following transactions in the first month :
a) Rashmi Sinha invested Rs. 50,000 cash in business
b) Bought equipment for cash Rs. 15,000
c¢) Tooka bank loan Rs. 25,000

d) Bought supplies on credit Rs. 3,000

P.T.O.
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e) Paid rent Rs. 12,500
f) Paid creditors Rs. 1,500

0) Received fee for services provided Rs. 29,000,

You are required to analyze the effect of the above transactions on the accounting

equation. \

6. XYZLtd., has prepared the following budget estimates for the year 2009-10.

Sales in units 15,000
Fixed expenses Rs. 34,000
Sales in volume Rs. 1,50,000
Variable cost per unit "~ Res. 6

You are required to :
i) Find out P/V ratio, break-even point and margin of safety.

ii) Calculate the revised P/V ratio, break-even point and margin of safety in
each of the cases :
a) Decrease of 10% in selling price

b) Increase of 10% in variable costs,
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7. Ajay Company reported a net profit after tax of Rs. 3,40,000 for the year ended
31-3-2007. The relevant balance sheet accounts on 31-3-2006 and 31-3-2007

are as follows :

(Amount in Rs.)

Particulars 31-3-2007 31-3-2006
Inventories 59,000 72,000
Debtors 94,000 61,000
Pre paid Expenses 14,000 3,000
Creditors 82,000 78,000
Income Tax Payable 13,000 19,000

Depreciation expenses of Rs. 49,000 and gain on sale of investment of Rs. 8,000
appeared on the Profit and Loss account for the year ended 31-3-2007.

Calculate net cash flow from operating activities using indirect method.

SECTION -B

Answerany three of the following questions. Each question carries 10 marks.

Answer to each theoretical question should not exceed 500 words. (10x3=30)

8. Define Human Resource Accounting. Explain the various valuation techniques of

human resource accounting.
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9

10.

What are Annual Reports ? Discuss the mandatory disclosures in a Company’s
Annual Reports.

The profitability statement of G Co. Ltd., has been summarized as given below.

Sales 15,00,000
Direct Material 4,50,000
Direct Wages 3,00,000

Variable Overheads 1,20,000

Fixed Overheads 4,40,000 13,10,000

Profit 1,90,000

The budgeted capacity of the company is Rs. 20,00,000 but the key factor is
sales demand. It is proposed that in order to utilize the existing capacity, the
selling price of the only product manufactured by the company should be reduced
by 5%. You are requested to prepare a forecast statement which should show
the effect of the proposed reduction in selling price and include any changes in
costs expected during the coming year. The following additional information is
given.

a) Sales forecast Rs. 19,00,000 (afte-r reduction)

b) Direct material prices are expected to increase by 2%

c) Direct wage rates are expected to increase by 5% per unit
d) Variable overheads are expected to increase by 5% per unit

e) Fixed overheads will increase by Rs. 20,000.
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11. The following is the Balance Sheet of Prashant Ltd., as on 31-3-2013

Balance Sheet of Prashant Lid.

as at 31 March 2013

Liabilities and Equity Amount Assets Amount
¢ T

Share capital Fixed assets 6,10,000
Equity shares of (Less: Depreciation)

10% each 4,00,000 Current assets :
1,000 12% Preference Stock-in-trade  1,60,000

shares of ¥ 100 Sundry debtors  1,20,000

each 1,00,000 V'EI;,OO,OOO Bills receivable 25,000
Reserve and surplus 1,00,000 Cashinhand
12% Debentures 2,00,000 and bank 35,000 3,40,000

Current liabilities

Creditors 1,20,000

Bank Overdraft 30,000 1,50,000

9,50,000 9,50,000
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Revenue Statement

Forthe Year Ended 31 March 2013

Particular Amount ()

Net sales (credit) 7,30,000

Cost of sales 92_0@

Gross profit 1,09,500 \
Administrative expenses 18,250

Selling and distribution expenses £6_50£ 54,750

Operating profit (before tax) 54,750

Taxation 25,550

Operating profit (after tax) 29,200

From the given information, you are required to compute the following ratios :
1) Current ratio

25 Liquidity ratio

3) Gross profit ratio

4) Debtor's velocity

5) Net profit ratio

6) Capital gearing ratio
7) Proprietary ratio

8) Stock working capital ratio

9) Administrative expenses ratio

10) Debt-equity ratio.
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SECTION-C

12. Case Study - Compulsory :
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(1x15=15)

The following is the tria| balance of Venkateshwara Ltd., as at 31.3.2012

Debit

Stock on 15t April 2011 7,50,000
Sales =
Purchases 24,50,000
Wages 5,00,000
Discounts 70,000
Salaries 75,000
Rent 49,500
General Expenses Including lnsu‘rénce 1,75,000
Profit and Loss Account on 18t April 2011 -
Dividends Paiq 90,000
Bad Debts 48,300
General Reserve ) -
Cash in hand and at Bank 1,62,000
Authorized capital and Issued Capital

(Fully Subscribed) (1 /00,000 Shares of Rs. 10 Each) =
Sundry Debtors and Creditors 3,75,000
Plant and Machinery 2,90,000

Total 50,34,800

Credit

35,00,000

1,50,300

1,55,000

10,00,000
1,79,500

50,34,800
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You are required to prepare a statement of Profit or Loss and a Balance Sheet for
year ended 315t March, 2012 as per the Revised Schedule VI of the Companies
Act‘.

a) Closing Stock Rs. 8,20,000

b) Depreciate machinery at 15% p.a.

¢) One month's rent at Rs. 54,000 p.a. was due on 315t March 2012
d) Six months insurance was unexpired Rs. 3,750

e) The Directors proposed a dividend of 8%.






